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Short-answer questions/problems

1.  What is the primary difference between an income bond and a zero-coupon bond?  

A zero-coupon bond never pays a coupon while an income bond may pay a coupon if the firm earns sufficient income.
2.  What are two ways in which preferred stock is similar to debt?  

Two of:  fixed payment, higher claim than common stockholders, no vote (usually), can be callable.
3.  Who gets to buy newly issued stock if it is issued through a cash offering?  

General public
4.  One of the costs associated with a cash offering is the announcement effect.  Briefly explain this cost.  

Stock prices decline when firm announces plans to issue additional shares of common stock.
5.  Assume Firm #1 and Firm #2 produce the same product.  However, Firm #1 uses a highly automated production process with high fixed costs and low variable costs per unit, while Firm #2 uses a labor intensive production process with low fixed costs and high variable costs per unit.  Which firm’s assets will tend to have a higher beta?

#1

6.  Give one reason it may be difficult to estimate the beta of a potential new project using historical returns on similar assets.

One of:  must be actively traded, the smaller the sample the less confidence in estimate, asset betas change over time.

7.  Assume that the required return on Slick Oil Inc.’s stock is 10% and that the required return on Slick Oil’s bonds is 7%.  Slick Oil’s stock has a market value of $ 250 billion and a book value of $75 billion.  Slick Oil’s bonds have a market value of $8 billion and a book value of $10 billion.  What is Slick Oil’s weighted average cost of capital if Slick’s marginal tax rate is 35%?
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8.  Assume that the average beta of Cool Air Inc. outstanding securities is 1.4.  List one reason that 1.4 may not be the number Cool Air should use as an estimate of the beta of a project it is considering undertaking.

One of:  risk of project may differ from risk of existing assets, measured betas likely not true betas of securities

9.  What types of projects is Morrow Inc. likely to incorrectly accept if it uses the firm’s weighted average cost of capital as a proxy for the required return on a new project being considered.

High risk
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10.  Assume that you own stock in a firm that has just announced that it plans to issue stock and use the proceeds to retire its debt.  How will this change affect the risk of the stock you own?
Decrease

Problems/Essays

1.  Considering only tax issues, discuss the changes in the current tax U.S. tax code that would cause the typical firm to want to increase the amount of debt in their capital structure.  Note that there is more than one such change and you should discuss these changes separately along the lines of:  change #1: blah, blah, blah, blah; change #2:  blah, blah, blah; etc.

Change #1:  increase in corporate tax rate.  Result:  more tax savings (less taxes paid) because interest is tax deductible.

Change #2:  decrease personal tax rate on ordinary income.  Result:  investors have less of a reason to avoid bonds (don’t require as high a pre-tax return) since investors will pay less taxes on the interest they receive.

Change #3:  make interest tax deductible even if EBIT < interest expense.  Result:  don’t lose tax shield if insufficient earnings before interest and taxes.  (Note:  this might be accomplished by modifying the carry-forward/carry-back to allow firm to get a check from the government if loss even if no previous profits.)

Note:  Miller assumes equity income is untaxed.  But if this were not the case, then an increase in the tax rate on equity income (dividends or capital gains) would increase the desirability of debt and thus the optimal amount of debt in the typical firm’s capital structure.

2.  Ignoring all tax-related issues, what characteristics of a firm might lead both the firm’s stockholders and managers to want the firm to avoid using debt as a source of funding?

Key issue => firm likely has low, volatile profits and cash flows or is currently “highly” levered.

Reasons this makes both stockholders and managers want to avoid debt:

1)  High chance of bankruptcy if issue debt.  Bankruptcy costs are relatively small (1-3% of firm value) but include:  legal fees, reorganization costs, court costs, administrative costs.

2)  High chance that won’t make interest payments if issue debt.  This creates a high potential for lost sales, loss of key employees, loss of supplier credit.

3)  Management will likely spend a lot of time avoiding bankruptcy rather than maximizing the value of the firm if the firm issues debt.

4)  Bonds will be expensive to issue since there will be a high level of stockholder/bondholder conflict.  As a result, bondholders will demand very restrictive covenants and high levels of monitoring.  

Note:  There are many other non-tax issues that would cause either stockholders or managers to want the firm to avoid debt, but these other issues don’t lead BOTH stockholders and managers to want to avoid debt.
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